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The pie chart below represents the population
of 1800 animals in a farm.

Chickens

How many more chickens than goats are there
in the farm?

A. 300
B. 900
C. 1200
D. 180

A car travelled 216km at an av erage. speed of
48km/h. On the return journey the average
speed increased to 72km/h. Caleulzte the
average speed, in kn/h, for the whole jourmney?

A. 57.6

B. 60

C. 28.8

D. 68.6

Which one of the statements below is a
property of a right angled, trlangle ?

All sides are equal..

Adjacent angles are supplementary.

Two of its sides are perpendicular.

The longest side of the triangle is
opposite the smallest angle.

A mathematics text book has 97 sheets of
paper and a cover. Each sheet of paper has a
mass of 4 grams and the cover has a mass of
20 g. Find the mass of the book in kilograms.

A. 0.408

B. 4.08

C. 40.8

-D. 408
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